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<MX‘( Pregum an (20&1)
min f(w) + g(z), w=z.
Consider an unconstrained problem
min f(w) + g(z) + 7 |lw 2|,

for which the Bregman iteration is given as

) T 2
Zr11 = argmin g(z) + §HW/1€ — 7z — u|
Z
(Split Bregman) : w1 = argmin f(w) + %HW — 21 — ugl?
W

Uiyl = U + (Wil — Zg+1)

Plug in u = %y, then it can be written as

, T
Zr1 = argmin g(z) — (yg, Wi — z) + §Hwk — ZH2
Z
) ) T
(Split Bregman) : w41 = argmin f(w) — (yk, W — Zg41) + 5 [[w — zj 11|
W

Yik+t1 = Yk T T(Wk;+1 - Zk:+1)

So this version of split Bregman method is equivalent to ADMM with
o = 7, thus also equivalent to the DR spliting on the dual.
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